Приложение 1
	
Карточка ДПОЧ -1

Выполни сложение:

2,5 + (-6) = - (6 – 2,5) = - 3,5
- 2,5 + (-6) = - (2,5 + 6) = - 8,5
- 2,5 + 6 = 6 – 2,5 = 3,5
- 2,5 + 0 = - 2,5
0 + (- 6) = - 6

	
Карточка ДПОЧ -2

Выполни вычитание:

3,5 – 4,2 = 3,5 + (- 4,2) = - (4,2 – 3,5) = - 0,7
- 3,5 – 4,2 = - 3,5 + (- 4,2) = - (3,5 + 4,2) = - 7,7
4,2 – 3,5 = 4,2 + (-3,5) = 4,2 – 3,5 =  0,7
0 – (- 4,2) = 0 + 4,2 = 4,2
- 3,5 – 0 = - 3,5


	
Карточка ДПОЧ -3

Выполни умножение:

0,8 * 5 =4
- 0,8* 5 = - (0,8* 5) = - 4
- 0,8 * (- 5) = 0,8 * 5 = 4
- 0,8 * (-1) = 0,8 * 1 = 0,8
0 * (-5) = 0


	
Карточка ДПОЧ -3

Выполни деление:

3,2/ (- 8) = - (3,2 /  8) = - 0,4
- 3,2 / (-8) = 3,2 / 8 =  0,4
- 3,2 / (-1) =3,2/ 1 = 3,2
- 3,2 / 1 = - 3,2
0 / (- 3,2) = 0





